Catalog 4300 Metric Clamps
PO Secton Updated February 2017 Standard Series A — Normal Mechanical Stress

APRA s N
Weld Plate — Strip @@T@'@T 9 w0

ASA

Stacking Bolts
TUBE L —A—s|
FITTING | GROUP | A B D FLEE LIl E ‘
PART # - mm) | om) | (mm) FITTING [GROUP| D | A | E OF
ASAOX 01 20 34 M6 x 1 PART # # (mm)|(mm)|(mm)| CLAMPS
: APRAOX| 0 | — [ 30 |298 10
:222; 2 gg ii mg Xl APRAIX| 1 |20 | 35 |349 10
X APRA2X| 2 | 26| 43 |427 10
ASA4X 4 35 | 49 | Méxi APRA3X| 3 |33 52516 10
ASA5X 5 50 64 | M6x1 APRA4X| 4 | 40| 60 |297 5
ASA6X 6 60 74 | M6x1 APRA5X| 5 52 | 75 | 370 5
APRA6X| 6 | 66 | 90 | 446 5
Thickness 3 mm
: D
o 0
APWA &1} DPA
Weld Plate — Angled I R 5 Top Plate
| 66
i TUBE
25 ] FITTING | GROUP B D 28—
TUBE _t O PART # # (mm) | (mm)
FITTING | GROUP| D E DPAOX 0 0 —
PART # # (mm) | (mm) e DPA1X 1 34 20
APWAOX 0 14 | 30 Groups 1-6 DPA2X 2 40 | 26 & @ %
APWA1X 1 20 36 DPA3X 3 48 33 l
APWA2X 2 26 42 DPA4X 4 57 40 —
APWA3X 3 33 50 DPA5X 5 70 52 l—D—s]
APWA4X 4 40 59 DPA6X 6 86 66 B
APWASX 5 52 72 Thickness 3 mm
APWAGX 6 66 88

Thickness 3 mm

TS S Ul SBA %F%Lj

Mounting Rail L@j 12 Locking Plate ‘(

17 =
28] s 21 } 5 s
TUBE REs
TUBE FITTING| GROUP H LENGTH FITTING GROUP A SW ‘ b ‘
PART # # (mm) (meter) PART # # (mm) (mm) A
TS11A/B1X ALL 11 1 SBAX ALL 30 11
TS14A/B1X ALL 14 1
TS30A/B1X ALL 30 1
TS11A/B2X ALL 11 2
TS14A/B2X ALL 14 2
TS30A/B2X ALL 30 2

TMA @@T e USA

Lock Nut 141-5 % Locking Washer
Bl —a—
TUBE TUBE
FITTING GROUP A B (o] M FITTING GROUP A B
PART # # (mm) | (mm) | (mm) (mm) PART # # (mm) (mm)
TMA/TMB1VERZX ALL 254 | 104 12 M6 X 1 USA/USB1X ALL 9 18

Dimensions and pressures for reference only, subject to change.

P6 Parker Hannifin Corporation
Tube Fittings Division
Columbus, Ohio

http://www.parker.com/tfd




